#### CITY OF MARYSVILLE AGENDA BILL

#### **EXECUTIVE SUMMARY FOR ACTION**

#### CITY COUNCIL MEETING DATE: July 12, 2021

AGENDA ITEM:	
Contract Award – LID Improvements for Ceda	r Avenue
PREPARED BY:	DIRECTOR APPROVAL:
Adam Benton, Project Engineer	
DEPARTMENT:	
Public Works, Engineering	
ATTACHMENTS:	
Certified Bid Tab, Vicinity Map, Public Works	Contract
BUDGET CODE:	AMOUNT:
40250594.563000, D2101	\$1,751,477.30
SUMMARY:	ı

The LID Improvements for Cedar Avenue project will include the construction of Low Impact Development facilities (bioretention areas, permeable pavers), construction of additional roadway improvements (bulb-outs) and replacement of approximately 70 linear feet of existing cast iron water main pipe between 1<sup>st</sup> Street and 4<sup>th</sup> Street. The project will also install pedestrian lighting, two RRFBs, landscaping and revised channelization between 4<sup>th</sup> Street and 5<sup>th</sup> Street.

The project is funded in part by Washington State Department of Ecology funds.

The project was advertised for a June 24, 2021 bid opening. The City received 4 bids as shown on the attached bid tabulation. The lowest bidder submitted an incomplete bid package, which was therefore considered non-responsive. As such, SRV Construction, Inc., with a bid of \$1,592,252.09, was identified as the low bidder. The engineer's estimate is \$1,200,000.00. References have been checked and found to be satisfactory.

Contract Bid:	\$1,592,252.09
Management Reserve:	\$159,225.21
Total:	\$1,751,477.30
Department of Ecology Funds:	\$1,188,719.29
Total Construction Cost to the City (D2101):	\$403 532 80

#### RECOMMENDED ACTION:

Staff recommends that Council authorize the Mayor to sign and execute the LID Improvements for Cedar Avenue project contract with SRV Construction, Inc. in the amount of \$1,592,252.09 and approve a management reserve of \$159,225.21 for a total allocation of \$1,751,477.30.

#### RECOMMENDED MOTION:

I move to authorize the Mayor to sign and execute the LID Improvements for Cedar Avenue project contract with SRV Construction, Inc. in the amount of \$1,592,252.09, and approve a management reserve of \$159,225.21, for a total allocation of \$1,751,477.30.



## LID Improvements for Cedar Avenue Certified Bid Tab

6	/24	/202
---	-----	------

4025059	4.563000.D2101 LID IMPROVEMENTS FO	R CEDAR AV	'ENUE					Incompl	ete Bid	Apparent	Low Bid		
SCHEDULE	E A - WATER MAIN IMPROVEMENTS BID			Engineer's	Estimate	Colacurcio Bi	rothers, Inc.	Larry Brown Co	nstruction, Inc.	SRV Constru	uction, Inc.	Granite Cons	truction Co.
Section	Item Description	Quantity	Units	Unit Prices	Total Price	Unit Prices	Total Price	Unit Prices	Total Price	Unit Prices	Total Price	Unit Prices	Total Price
1-04.4(1)	100 MINOR CHANGE	FA	1.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
2-09.5	101 LOCATE EXISTING UTILITIES	LS	1.00	\$2,000.00	\$2,000.00	\$1,000.00	\$1,000.00	\$485.00	\$485.00	\$1,000.00	\$1,000.00	\$1,500.00	\$1,500.00
2-09.5	102 POTHOLE	EA	4.00	\$500.00	\$2,000.00	\$400.00	\$1,600.00	\$510.00	\$2,040.00	\$250.00	\$1,000.00	\$750.00	\$3,000.00
7-08.5	103 TRENCH EXCAVATION SAFETY SYSTEMS	LS	1.00	\$1,000.00	\$1,000.00	\$580.00	\$580.00	\$100.00	\$100.00	\$500.00	\$500.00	\$3,000.00	\$3,000.00
7-08.5	104 BANK RUN GRAVEL FOR TRENCH BACKFILL	TON	50.00	\$20.00	\$1,000.00	\$50.00	\$2,500.00	\$18.85	\$942.50	\$23.50	\$1,175.00	\$34.00	\$1,700.00
7-08.5	105 REMOVAL OF UNSUITABLE MATERIAL (TRENCH)	CY	5.00	\$50.00	\$250.00	\$100.00	\$500.00	\$25.00	\$125.00	\$52.00	\$260.00	\$188.00	\$940.00
7-09.5	106 DI PIPE FOR WATER MAIN, 6 IN. DIAM., CLASS 52	LF	40.00	\$100.00	\$4,000.00	\$130.00	\$5,200.00	\$112.50	\$4,500.00	\$147.00	\$5,880.00	\$172.00	\$6,880.00
7-09.5	107 DI PIPE FOR WATER MAIN, 12 IN. DIAM., CLASS 52	LF	70.00	\$130.00	\$9,100.00	\$150.00	\$10,500.00	\$170.15	\$11,910.50	\$192.00	\$13,440.00	\$230.00	\$16,100.00
7-09.5	108 CONNECTION TO EXISTING WATER MAIN	EA	2.00	\$4,000.00	\$8,000.00	\$2,000.00	\$4,000.00	\$3,190.00	\$6,380.00	\$3,850.00	\$7,700.00	\$3,200.00	\$6,400.00
7-09.5	109 ADDITIONAL DUCTILE IRON FITTINGS	LB	200.00	\$10.00	\$2,000.00	\$10.00	\$2,000.00	\$3.00	\$600.00	\$13.00	\$2,600.00	\$6.50	\$1,300.00
7-12.5	110 GATE VALVE, 12 IN.	EA	1.00	\$5,000.00	\$5,000.00	\$3,200.00	\$3,200.00	\$2,855.00	\$2,855.00	\$2,550.00	\$2,550.00	\$5,000.00	\$5,000.00
7-12.5	111 ADJUST VALVE BOX	EA	7.00	\$500.00	\$3,500.00	\$800.00	\$5,600.00	\$550.00	\$3,850.00	\$650.00	\$4,550.00	\$1,000.00	\$7,000.00
7-14.5	112 FIRE HYDRANT ASSEMBLY	EA	1.00	\$6,000.00	\$6,000.00	\$7,000.00	\$7,000.00	\$6,125.00	\$6,125.00	\$7,250.00	\$7,250.00	\$11,800.00	\$11,800.00
7-15.5	113 SEVICE CONNECTION, 1 IN. DIAM.	EA	2.00	\$1,200.00	\$2,400.00	\$2,000.00	\$4,000.00	\$720.00	\$1,440.00	\$2,450.00	\$4,900.00	\$2,500.00	\$5,000.00
7-15.5	114 SERVICE PIPE, 1 IN. DIAM., CLASS 52	LF	65.00	\$40.00	\$2,600.00	\$50.00	\$3,250.00	\$39.70	\$2,580.50	\$16.00	\$1,040.00	\$90.00	\$5,850.00
		SCHED	ULE A BID		\$53,850.00		\$55,930.00		\$48,933.50		\$58,845.00		\$80,470.00
		SALES 1	AX (9.3%)		\$5,008.05		\$5,201.49		\$4,550.82		\$5,472.59		\$7,483.71
		SCHEDUL	E A TOTAL		\$58,858.05		\$61,131.49		\$53,484.32		\$64,317.59		\$87,953.71

													6/24/2021
								Incomp	lete Bid	Apparent	Low Bid		
SCHEDULE	B - ROAD AND STORM IMPROVEMENTS BID			Engineer's	s Estimate	Colacurcio Bi	others, Inc.	Larry Brown Co	nstruction, Inc.	SRV Constru	uction, Inc.	Granite Cons	truction Co.
Section	Item Description	Quantity	Units	Unit Prices	Total Price	Unit Prices	Total Price	Unit Prices	Total Price	Unit Prices	Total Price	Unit Prices	Total Price
1-04.4(1)	200 MINOR CHANGES	FA	1.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00
1-05.4(2)	201 SURVEY	LS	1.00	\$12,000.00	\$12,000.00	\$17,500.00	\$17,500.00	\$21,345.00	\$21,345.00	\$13,400.00	\$13,400.00	\$15,000.00	\$15,000.00
1-05.18	202 RECORD DRAWINGS (MIN. BID \$500)	LS	1.00	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00
1-07.15(1)	203 SPCC PLAN	LS	1.00	\$500.00	\$500.00	\$1,000.00	\$1,000.00	\$485.00	\$485.00	\$225.00	\$225.00	\$500.00	\$500.00
1-07.18(6)	204 RAILROAD COORDINATION AND FLAGGING	FA	1.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00
1-09.7	205 MOBILIZATION, CLEANUP AND DEMOBILIZATION	LS	1.00	\$100,000.00	\$100,000.00	\$130,000.00	\$130,000.00	\$94,100.00	\$94,100.00	\$189,500.00	\$189,500.00	\$195,000.00	\$195,000.00
1-10.5	206 PROJECT TEMPORARY TRAFFIC CONTRIL	LS	1.00	\$40,000.00	\$40,000.00	\$267,000.00	\$267,000.00	\$97,800.00	\$97,800.00	\$120,000.00	\$120,000.00	\$269,000.00	\$269,000.00
2-01.5	207 CLEARING AND GRUBBING	LS	1.00	\$3,000.00	\$3,000.00	\$2,000.00	\$2,000.00	\$4,400.00	\$4,400.00	\$950.00	\$950.00	\$2,000.00	\$2,000.00
2-02.5	208 REMOVAL OF STRUCTURES AND OBSTRUCTIONS	LS	1.00	\$55,000.00	\$55,000.00	\$60,000.00	\$60,000.00	\$66,500.00	\$66,500.00	\$42,000.00	\$42,000.00	\$56,000.00	\$56,000.00
2-03.5	209 EXCAVATION, EMBANKMENT AND GRADING, INCL. HAUL	CY	870.00	\$50.00	\$43,500.00	\$33.00	\$28,710.00	\$36.20	\$31,494.00	\$32.50	\$28,275.00	\$43.00	\$37,410.00
2-03.5	210 GRAVEL BORROW, INCL. HAUL	TON	280.00	\$25.00	\$7,000.00	\$33.00	\$9,240.00	\$33.05	\$9,254.00	\$32.00	\$8,960.00	\$53.00	\$14,840.00
2-03.5	211 UNSUITABLE FOUNDATION EXCAVATION, INCL. HAUL	CY	20.00	\$50.00	\$1,000.00	\$48.00	\$960.00	\$25.00	\$500.00	\$36.00	\$720.00	\$119.00	\$2,380.00
2-09.5	212 LOCATE EXISTING UTILITIES	LS	1.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$1,015.00	\$1,015.00	\$2,900.00	\$2,900.00	\$2,250.00	\$2,250.00
2-09.5	213 POTHOLE	EA	4.00	\$500.00	\$2,000.00	\$400.00	\$1,600.00	\$510.00	\$2,040.00	\$500.00	\$2,000.00	\$750.00	\$3,000.00





## LID Improvements for Cedar Avenue Certified Bid Tab

								Incomp	lete Bid	Apparent	Low Bid		
HEDULI	B - ROAD AND STORM IMPROVEMENTS BID			Engineer's	Estimate	Colacurcio B	rothers, Inc.	Larry Brown Co		SRV Constru	uction, Inc.	Granite Cons	truction Co.
ection	Item Description	Quantity	Units	Unit Prices	Total Price	Unit Prices	Total Price	Unit Prices	Total Price	Unit Prices	Total Price	Unit Prices	Total Price
4-04.5	214 CRUSHED SURFACING TOP COURSE	TON	600.00	\$35.00	\$21,000.00	\$31.50	\$18,900.00	\$44.15	\$26,490.00	\$44.50	\$26,700.00	\$42.00	\$25,200.
4-04.5	215 STORAGE BED GRAVEL	TON	120.00	\$35.00	\$4,200.00	\$56.00	\$6,720.00	\$73.45	\$8,814.00	\$52.00	\$6,240.00	\$70.00	\$8,400.
4-04.5	216 CHOKER GRAVEL COURSE	TON	60.00	\$40.00	\$2,400.00	\$57.00	\$3,420.00	\$37.00	\$2,220.00	\$74.00	\$4,440.00	\$70.00	\$4,200.
4-04.5	217 SAND FOR TREATMENT	TON	90.00	\$40.00	\$3,600.00	\$57.00	\$5,130.00	\$69.80	\$6,282.00	\$60.30	\$5,427.00	\$79.00	\$7,110.
5-03.5	218 INTERLOCKING CONC. PAVERS	SF	2560.00	\$20.00	\$51,200.00	\$24.00	\$61,440.00	\$21.75	\$55,680.00	\$13.00	\$33,280.00	\$23.00	\$58,880
5-04.5	219 HMA CI. 1/2" PG 58H-22	TON	1280.00	\$95.00	\$121,600.00	\$125.00	\$160,000.00	\$105.50	\$135,040.00	\$108.50	\$138,880.00	\$116.00	\$148,480
5-04.5	220 TEMPORARY HMA	TON	50.00	\$150.00	\$7,500.00	\$230.00	\$11,500.00	\$180.00	\$9,000.00	\$132.00	\$6,600.00	\$212.00	\$10,600
5-04.5	221 JOB MIX COMPLIANCE PRICE ADJUSTMENT	CALC	1.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0
5-04.5	222 COMPACTION PRICE ADJUSTMENT	CALC	1.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0
5-04.5	223 PLANING BITUMINOUS PAVEMENT	SY	4780.00	\$4.00	\$19,120.00	\$5.80	\$27,724.00	\$3.00	\$14,340.00	\$2.50	\$11,950.00	\$4.00	\$19,120
6-03.5	224 BIKE RACK, COMPLETE	EA	1.00	\$2,000.00	\$2,000.00	\$1,700.00	\$1,700.00	\$965.00	\$965.00	\$650.00	\$650.00	\$2,400.00	\$2,400
7-04.5	225 PVC STORM SEWER PIPE, 8 IN. DIAM. (INCL. BEDDING)	LF	180.00	\$30.00	\$5,400.00	\$50.00	\$9,000.00	\$50.15	\$9,027.00	\$77.50	\$13,950.00	\$72.00	\$12,960
7-04.5	226 CPEP STORM SEWER PIPE, 12 IN. DIAM. (INCL. BEDDING)	LF	150.00	\$60.00	\$9,000.00	\$56.00	\$8,400.00	\$55.55	\$8,332.50	\$74.00	\$11,100.00	\$79.00	\$11,850
7-04.5	227 CPEP STORM SEWER PIPE, 18 IN. DIAM. (INCL. BEDDING)	LF	230.00	\$90.00	\$20,700.00	\$80.00	\$18,400.00	\$77.70	\$17,871.00	\$88.75	\$20,412.50	\$101.00	\$23,230
7-05.5	228 CONCRETE INLET	EA	9.00	\$2,000.00	\$18,000.00	\$2,000.00	\$18,000.00	\$1,470.00	\$13,230.00	\$1,500.00	\$13,500.00	\$3,000.00	\$27,000
7-05.5	229 CATCH BASIN, TYPE 1	EA	3.00	\$2,000.00	\$6,000.00	\$2,500.00	\$7,500.00	\$1,980.00	\$5,940.00	\$1,700.00	\$5,100.00	\$2,800.00	\$8,400
7-05.5	230 CATCH BASIN, TYPE 2	EA	3.00	\$4,000.00	\$12,000.00	\$3,600.00	\$10,800.00	\$4,575.00	\$13,725.00	\$4,650.00	\$13,950.00	\$6,300.00	\$18,900
7-05.5	231 STORMWATER TREATMENT BASIN	EA	1.00	\$18,000.00	\$18,000.00	\$28,000.00	\$28,000.00	\$21,400.00	\$21,400.00	\$22,400.00	\$22,400.00	\$31,000.00	\$31,000
7-05.5	232 ADJUST CATCH BASIN	EA	3.00	\$500.00	\$1,500.00	\$900.00	\$2,700.00	\$1,115.00	\$3,345.00	\$700.00	\$2,100.00	\$1,000.00	\$3,000
7-05.5	233 ADJUST GAS VALVE BOX	EA	2.00	\$400.00	\$800.00	\$770.00	\$1,540.00	\$590.00	\$1,180.00	\$650.00	\$1,300.00	\$800.00	\$1,600
7-08.5	234 BANK RUN GRAVEL FOR TRENCH BACKFILL	TON	250.00	\$20.00	\$5,000.00	\$50.00	\$12,500.00	\$18.85	\$4,712.50	\$29.00	\$7,250.00	\$34.00	\$8,500
7-08.5	235 REMOVAL OF UNSUITABLE MATERIAL (TRENCH)	CY	10.00	\$50.00	\$500.00	\$48.00	\$480.00	\$25.00	\$250.00	\$64.00	\$640.00	\$120.00	\$1,200
7-08.5	236 TRENCH EXCAVATION SAFETY SYSTEMS	LS	1.00	\$4,000.00	\$4,000.00	\$1,000.00	\$1,000.00	\$100.00	\$100.00	\$500.00	\$500.00	\$3,000.00	\$3,000
7-19.5	237 STORM SEWER CLEANOUT	EA	6.00	\$500.00	\$3,000.00	\$740.00	\$4,440.00	\$575.00	\$3,450.00	\$925.00	\$5,550.00	\$1,400.00	\$8,400
8-01.5	238 EROSION CONTROL AND WATER POLLUTION PREVENTION	LS	1.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$2,125.00	\$2,125.00	\$7,200.00	\$7,200.00	\$25,000.00	\$25,000
8-02.5	239 EX., COMPACTION & GRADING FOR BIORETENTION FACILITIES	CY	150.00	\$40.00	\$6,000.00	\$37.50	\$5,625.00	\$43.75	\$6,562.50	\$33.00	\$4,950.00	\$135.00	\$20,250
8-02.5	240 BIORETENTION SOIL MIX	CY	120.00	\$60.00	\$7,200.00	\$53.00	\$6,360.00	\$78.00	\$9,360.00	\$68.00	\$8,160.00	\$96.00	\$11,520
8-02.5	241 TOPSOIL, TYPE A	CY	50.00	\$50.00	\$2,500.00	\$73.00	\$3,650.00	\$67.00	\$3,350.00	\$73.00	\$3,650.00	\$74.00	\$3,700
8-02.5	242 FINE COMPOST	CY	5.00	\$80.00	\$400.00	\$245.00	\$1,225.00	\$123.00	\$615.00	\$65.00	\$325.00	\$74.00	\$370
8-02.5	243 BARK MULCH	CY	20.00	\$80.00	\$1,600.00	\$110.00	\$2,200.00	\$113.40	\$2,268.00	\$84.00	\$1,680.00	\$74.00	\$1,480
8-02.5	244 SOD INSTALLATION	SY	540.00	\$20.00	\$10,800.00	\$22.00	\$11,880.00	\$16.25	\$8,775.00	\$18.00	\$9,720.00	\$11.00	\$5,940
8-02.5	245 PSIPE (HEBE X CHAMPION)	EA	8.00	\$50.00	\$400.00	\$35.00	\$280.00	\$35.85	\$286.80	\$62.00	\$496.00	\$22.00	\$176
8-02.5	246 PSIPE (HEBE X QUICKSILVER)	EA	5.00	\$50.00	\$250.00	\$35.00	\$175.00	\$35.85	\$179.25	\$28.00	\$140.00	\$22.00	\$110
8-02.5	247 PSIPE (LAVANDULA ANGUSTIFOLIA 'FOLGATE')	EA	7.00	\$20.00	\$140.00	\$20.00	\$140.00	\$36.90	\$258.30	\$62.00	\$434.00	\$22.00	\$154
8-02.5	248 PSIPE (VIBURNUM DAVIDII)	EA	5.00	\$25.00	\$125.00	\$60.00	\$300.00	\$36.90	\$184.50	\$62.00	\$310.00	\$22.00	\$110
8-02.5	249 PSIPE (HEUCHERA X 'CRIMSON CURLS')	EA	12.00	\$15.00	\$180.00	\$20.00	\$240.00	\$36.90	\$442.80	\$28.00	\$336.00	\$22.00	\$264
8-02.5	250 PSIPE (LIATRIS SPICATA 'FLORISTAN WHITE')	EA	94.00	\$15.00	\$1,410.00	\$35.00	\$3,290.00	\$35.85	\$3,369.90	\$28.00	\$2,632.00	\$22.00	\$2,068
8-02.5	251 PSIPE (ARCTOSTAPHYLOS UVA-URSI)	EA	49.00	\$10.00	\$490.00	\$20.00	\$980.00	\$26.25	\$1,286.25	\$17.00	\$833.00	\$22.00	\$1,078
8-02.5	252 PSIPE (LYSIMACHIA NUMMULARIA 'AUREA')	EA	30.00	\$15.00	\$450.00	\$20.00	\$600.00	\$35.85	\$1,075.50	\$28.00	\$840.00	\$22.00	\$660
8-02.5	253 PSIPE (SEDUM HISPANICUM 'PURPLE FORM')	EA	98.00	\$10.00	\$980.00	\$15.00	\$1,470.00	\$35.85	\$3,513.30	\$28.00	\$2,744.00	\$22.00	\$2,156
3-02.5	254 PSIPE (MISCANTHUS 'MORNING LIGHT')	EA	2.00	\$25.00	\$50.00	\$60.00	\$120.00	\$26.25	\$52.50	\$56.00	\$112.00	\$22.00	\$44
8-02.5	255 PSIPE (CAREX OSHIMENSIS 'EVERCOLOR EVERILLO')	EA	85.00	\$10.00	\$850.00	\$30.00	\$2,550.00	\$26.25	\$2,231.25	\$17.00	\$1,445.00	\$22.00	\$1,870
8-02.5	256 PSIPE (CORNUS SERICEA 'BAILEYI')	EA	12.00	\$25.00	\$300.00	\$100.00	\$1,200.00	\$46.55	\$558.60	\$50.00	\$600.00	\$22.00	\$264
8-02.5	257 PSIPE (CORNUS SANGUINEA 'CATO')	EA	8.00	\$25.00	\$200.00	\$60.00	\$480.00	\$48.15	\$385.20	\$61.00	\$488.00	\$22.00	\$176
8-02.5	258 PSIPE (MONARDA 'JACOB CLINE')	EA	90.00	\$15.00	\$1,350.00	\$30.00	\$2,700.00	\$26.25	\$2,362.50	\$28.00	\$2,520.00	\$22.00	\$1,980





## LID Improvements for Cedar Avenue Certified Bid Tab

6/24/2021

								Incompl	ete Bid	Apparen	t Low Bid		
SCHEDULI	E B - ROAD AND STORM IMPROVEMENTS BID			Engineer's	s Estimate	Colacurcio B	rothers, Inc.	Larry Brown Co	nstruction, Inc.	SRV Constr	uction, Inc.	Granite Cons	struction Co.
Section	Item Description	Quantity	Units	Unit Prices	Total Price	Unit Prices	Total Price	Unit Prices	Total Price	Unit Prices	Total Price	Unit Prices	Total Price
8-02.5	259 PSIPE (IRIS ENSATA 'LION KING')	EA	90.00	\$15.00	\$1,350.00	\$30.00	\$2,700.00	\$26.25	\$2,362.50	\$28.00	\$2,520.00	\$22.00	\$1,980.00
8-02.5	260 PSIPE (JUNCUS EFFUSUS)	EA	180.00	\$10.00	\$1,800.00	\$20.00	\$3,600.00	\$26.25	\$4,725.00	\$17.00	\$3,060.00	\$22.00	\$3,960.00
8-02.5	261 PSIPE (CAMASSIA QUAMASH)	EA	87.00	\$10.00	\$870.00	\$30.00	\$2,610.00	\$26.25	\$2,283.75	\$18.00	\$1,566.00	\$22.00	\$1,914.00
8-02.5	262 PSIPE (CAREX OBNUPTA)	EA	87.00	\$10.00	\$870.00	\$25.00	\$2,175.00	\$26.25	\$2,283.75	\$17.00	\$1,479.00	\$22.00	\$1,914.00
8-02.5	263 ROUND SELF WATERING PLANTER	EA	10.00	\$1,000.00	\$10,000.00	\$2,400.00	\$24,000.00	\$2,000.00	\$20,000.00	\$2,575.00	\$25,750.00	\$2,200.00	\$22,000.00
8-02.5	264 INTERPRETIVE SIGN, COMPLETE	EA	1.00	\$1,000.00	\$1,000.00	\$2,500.00	\$2,500.00	\$1,260.00	\$1,260.00	\$6,200.00	\$6,200.00	\$5,800.00	\$5,800.00
8-03.5	265 IRRIGATION SYSTEM, COMPLETE	LS	1.00	\$16,000.00	\$16,000.00	\$15,000.00	\$15,000.00	\$31,500.00	\$31,500.00	\$34,750.00	\$34,750.00	\$56,000.00	\$56,000.00
8-04.5	266 CEMENT CONCRETE TRAFFIC CURB AND GUTTER	LF	940.00	\$40.00	\$37,600.00	\$34.00	\$31,960.00	\$34.75	\$32,665.00	\$34.00	\$31,960.00	\$38.00	\$35,720.00
8-04.5	267 THICKENED CEMENT CONCRETE CURB AND GUTTER	LF	270.00	\$110.00	\$29,700.00	\$165.00	\$44,550.00	\$161.00	\$43,470.00	\$168.00	\$45,360.00	\$174.00	\$46,980.00
8-04.5	268 CEMENT CONCRETE BIORETENTION BARRIER CURB	LF	350.00	\$110.00	\$38,500.00	\$165.00	\$57,750.00	\$161.00	\$56,350.00	\$168.00	\$58,800.00	\$176.00	\$61,600.00
8-04.5	269 CEMENT CONCRETE VALLEY GUTTER	LF	170.00	\$60.00	\$10,200.00	\$70.00	\$11,900.00	\$60.95	\$10,361.50	\$62.00	\$10,540.00	\$74.00	\$12,580.00
8-04.5	270 CEMENT CONCRETE SETTLING PAD SPILL CURB	LF	65.00	\$80.00	\$5,200.00	\$180.00	\$11,700.00	\$182.85	\$11,885.25	\$213.00	\$13,845.00	\$200.00	\$13,000.00
8-07.5	271 PRECAST CONCRETE BUMPER CURB	EA	2.00	\$200.00	\$400.00	\$175.00	\$350.00	\$160.00	\$320.00	\$225.00	\$450.00	\$170.00	\$340.00
8-07.5	272 PRECAST DUAL FACED SLOPED MOUNTABLE CURB	LF	150.00	\$30.00	\$4,500.00	\$24.00	\$3,600.00	\$22.00	\$3,300.00	\$51.00	\$7,650.00	\$23.00	\$3,450.00
8-13.5	273 CAST-IN-PLACE MONUMENT	EA	2.00	\$500.00	\$1,000.00	\$2,000.00	\$4,000.00	\$2,210.00	\$4,420.00	\$1,925.00	\$3,850.00	\$850.00	\$1,700.00
8-14.5	274 CEMENT CONC. SIDEWALK	SY	1450.00	\$60.00	\$87,000.00	\$100.00	\$145,000.00	\$95.00	\$137,750.00	\$106.00	\$153,700.00	\$125.00	\$181,250.00
8-14.5	275 CEMENT CONC. CURB RAMP	EA	13.00	\$1,500.00	\$19,500.00	\$2,700.00	\$35,100.00	\$2,260.00	\$29,380.00	\$2,725.00	\$35,425.00	\$3,600.00	\$46,800.00
8-20.5	276 RRFB INSTALL CEDAR AVENUE AND 3RD STREET, COMPLETE	LS	1.00	\$30,000.00	\$30,000.00	\$22,000.00	\$22,000.00	\$21,000.00	\$21,000.00	\$22,000.00	\$22,000.00	\$22,000.00	\$22,000.00
8-20.5	277 DECORATIVE ILLUMINATION SYSTEM, COMPLETE	LS	1.00	\$105,000.00	\$105,000.00	\$180,000.00	\$180,000.00	\$166,300.00	\$166,300.00	\$161,000.00	\$161,000.00	\$162,000.00	\$162,000.00
8-20.5	278 ELECTRICAL CONNECTION FOR READER BOARD SIGN	LS	1.00	\$3,000.00	\$3,000.00	\$1,100.00	\$1,100.00	\$1,900.00	\$1,900.00	\$1,150.00	\$1,150.00	\$1,100.00	\$1,100.00
8-20.5	279 FIBER OPTIC SYSTEM, COMPLETE	LS	1.00	\$10,000.00	\$10,000.00	\$17,000.00	\$17,000.00	\$13,000.00	\$13,000.00	\$12,750.00	\$12,750.00	\$13,000.00	\$13,000.00
8-21.5	280 PERMANENT SIGNING	LS	1.00	\$5,000.00	\$5,000.00	\$6,000.00	\$6,000.00	\$6,135.00	\$6,135.00	\$6,200.00	\$6,200.00	\$17,000.00	\$17,000.00
8-22.5	281 PLASTIC LINE	LF	2800.00	\$2.00	\$5,600.00	\$3.80	\$10,640.00	\$2.85	\$7,980.00	\$2.80	\$7,840.00	\$3.50	\$9,800.00
8-22.5	282 PLASTIC WIDE LANE LINE	LF	2060.00	\$4.00	\$8,240.00	\$3.80	\$7,828.00	\$3.95	\$8,137.00	\$4.00	\$8,240.00	\$3.50	\$7,210.00
8-22.5	283 PLASTIC STOP LINE	LF	130.00	\$20.00	\$2,600.00	\$11.60	\$1,508.00	\$13.65	\$1,774.50	\$13.50	\$1,755.00	\$11.00	\$1,430.00
8-22.5	284 PLASTIC CROSSWALK LINE	SF	270.00	\$15.00	\$4,050.00	\$8.00	\$2,160.00	\$7.90	\$2,133.00	\$8.00	\$2,160.00	\$8.00	\$2,160.00
8-22.5	285 PLASTIC CROSSWALK MARKING	SF	990.00	\$20.00	\$19,800.00	\$116.00	\$114,840.00	\$32.55	\$32,224.50	\$9.00	\$8,910.00	\$6.50	\$6,435.00
8-22.5	286 PLASTIC TRAFFIC ARROW	EA	7.00	\$100.00	\$700.00	\$145.00	\$1,015.00	\$175.00	\$1,225.00	\$168.00	\$1,176.00	\$141.00	\$987.00
8-22.5	287 PLASTIC ACCESS PARKING SPACE SYMBOL W/ BACKGROUND	EA	3.00	\$200.00	\$600.00	\$400.00	\$1,200.00	\$335.00	\$1,005.00	\$336.00	\$1,008.00	\$420.00	\$1,260.00
8-22.5	288 PLASTIC SHARROW SYMBOL	EA	2.00	\$200.00	\$400.00	\$285.00	\$570.00	\$335.00	\$670.00	\$336.00	\$672.00	\$275.00	\$550.00
8-22.5	289 PAINTED BICYCLE LANE SYMBOL	EA	6.00	\$200.00	\$1,200.00	\$145.00	\$870.00	\$100.00	\$600.00	\$84.00	\$504.00	\$140.00	\$840.00
8-22.5	290 REMOVE EXISTING PAVEMENT MARKINGS	LS	1.00	\$6,000.00	\$6,000.00	\$3,800.00	\$3,800.00	\$4,285.00	\$4,285.00	\$8,400.00	\$8,400.00	\$3,600.00	\$3,600.00
8-32.5	291 PROJECT SIGN	EA	2.00	\$500.00	\$1,000.00	\$1,900.00	\$3,800.00	\$1,440.00	\$2,880.00	\$650.00	\$1,300.00	\$2,000.00	\$4,000.00
		SCHED	ULE B BID		\$1,147,375.00		\$1,798,095.00		\$1,440,634.90		\$1,527,934.50		\$1,994,782.00
	SALES TAX 0% PER W.S. F				\$0.00		\$0.00		\$0.00		\$0.00		\$0.00
			E B TOTAL		\$1,147,375.00		\$1,798,095.00		\$1,440,634.90		\$1,527,934.50		\$1,994,782.00
	BID TOTAL (SCHE	DULE A + SCH	HEDULE B)		\$1,206,233.05		\$1,859,226.49		\$1,494,119.22		\$1,592,252.09		\$2,082,735.71



# PART 3 - CONTRACT DOCUMENTS

#### **PUBLIC WORKS CONTRACT**

**THIS PUBLIC WORKS CONTRACT** (the "Contract") is made and entered into as of the date of the last signature below, by and between the City of Marysville, a Washington State municipal corporation (the "City") and SRV Construction, Inc., a Corporation, organized under the laws of the State of Washington, located and doing business at P.O. Box 507, Anacortes, WA 98221, (the "Contractor").

#### WITNESSETH:

Whereas, the City desires to have certain public work performed as hereinafter set forth, requiring specialized skills and other supportive capabilities; and

Whereas, the Contractor represents that it is qualified and possesses sufficient skills and the necessary capabilities to perform the services set forth in this Contract.

NOW, THEREFORE, in consideration of the terms, conditions, and agreements contained herein, the parties hereto agree as follows:

I. SCOPE OF WORK. The Contractor agrees to do all work and furnish all labor, tools, materials, equipment, and supplies required to build and construct and to build and construct in a workmanlike manner the work, improvements, and appurtenances in order to accomplish the following project:

#### **LID Improvements for Cedar Avenue (D2101)**

All such work, labor, tools, materials, equipment, and supplies to be procured and furnished in accordance with the following documents (the "Contract Documents") which are incorporated by reference and are hereby made a part of this Contract:

- A. This Contract:
- B. The Call for Bids, Information for Bidders, and Bidder's Checklist;
- C. 2020 Washington State Department of Transportation Standard Specifications for Road, Bridge, and Municipal Construction as modified by all amendments thereto as of the date of the Contractor's bid;
- D. Special Provisions
- E. Plans, Drawings, Project and Technical Specifications;
- F. Addenda (if any)
- G. Contractor's Proposal/Bid
- H. Payment Bond and Performance Bond; and
- I. All provisions required by law whether set forth and reproduced herein or not.

and shall perform any alterations in or additions to the work provided under this Contract and every part thereof.

The Contractor shall provide and bear the expense of all equipment, work, and labor of any sort whatsoever that may be required for the transfer of materials and for constructing and completing the work provided for in this Contract, except as may otherwise be provided in the Contract Documents.

The Contractor shall guarantee said materials and work for a period of one year after completion of this Contract.

- II. TIME FOR COMPLETION & LIQUIDATED DAMAGES. Substantial completion shall be achieved within One Hundred (100) working days of the effective date of the Notice to Proceed. If said work is not completed within the time specified, the Contractor agrees to pay the City liquidated damages as provided in Section 1-08.9 of the Standard Specifications.
- III. COMPENSATION AND METHOD OF PAYMENT. The lump sum/total itemized amount of the Contract is One Million Five Hundred Ninety Two Thousand Two Hundred Fifty Two Dollars and Nine Cents (\$1,592,252.09) including Washington State Sales Tax. The total Project cost includes all costs associated with the Project work, including, but not limited to labor, materials, overhead, and administrative, permit, and regulatory costs, unless otherwise agreed in writing. The Project cost is based on the proposal/bid submitted by the Contractor dated June 24, 2021. The basis for final payment will be the actual amount of work performed according to the Contract Documents and payments, whether partial or final, shall be made as specified therein.
- **IV. ATTORNEY FEES.** Should either the City or the Contractor commence any legal action relating to the provisions of this Contract, or the enforcement thereof, the prevailing party shall be awarded judgment for all costs of litigation including, but not limited to, costs, expert witnesses and reasonable attorney fees.
- V. **INDEMNIFICATION.** In addition to any other obligations contained in the Contract Documents.
  - A. The Contractor shall defend, indemnify and hold the City, its officers, officials, employees, and volunteers harmless from any and all claims, injuries, damages, losses, or suits including attorney fees, arising out of or in connection with the performance of this Contract, except for injuries and damages caused by the sole negligence of the City.
  - B. Should a court of competent jurisdiction determine that this Contract is subject to RCW 4.24.115, then, in the event of liability for damages arising out of bodily injury to persons or damages to property caused by or resulting from the concurrent negligence of the Contractor and the City, its officers, officials, employees, and volunteers, the Contractor's liability hereunder shall be only to the extent of the Contractor's negligence.
  - C. The Contractor specifically and expressly waives any immunity that may be granted it under the Washington State Industrial Insurance Act, Title 51 RCW, as

		shall not be limited in any way damages, compensation or bene workers compensation acts, disacts; provided the Contractor's paragraph extends only to claim include, or extend to, any claim Contractor. The obligations of mutually negotiated by the part City would not enter into this C	by any limitation on the amount or type of efits payable to or for any third party under ability benefits acts, or other employee benefits waiver of immunity by the provisions of this as against the Contractor by the City and does not so by the Contractor's employees directly against Contractor under this subsection have been ites hereto, and Contractor acknowledges that the contract without the waiver thereof of Contractor. (Contractor initials)
	D.	<u> </u>	hall survive the expiration or termination of this ent occurring prior to such expiration or
/ <b>I.</b>	CON	TRACT ADMINISTRATION.	
Adam	Bentor	<u>•</u>	rbarendse on behalf of the Contractor and by ten notices required by the terms of this Contract resses:
	Attn: P.O. F	actor: Construction, Inc. Krysta Verbarendse Box 507 ortes, WA 98221	<u>City</u> : City of Marysville Public Works – Attn: Adam Benton 80 Columbia Ave Marysville, WA 98270
II.		VAILING WAGES. The Contra	actor shall comply with all state and federal laws d wage rates to be paid.
the da		TNESS WHEREOF, the parties ear first hereinabove written.	hereto have caused this Agreement to be executed
	DAT	ED this day of	, 2021.
			CITY OF MARYSVILLE
			By: Jon Nehring, Mayor

VI.

VII.

DATED this	_day of	, 2021.
		SRV CONSTRUCTION, INC.
		By:
		Krysta Verbarendse
		Its: Corporate Secretary
Attested/Authenticated:		
, Dep	uty City Clerk	
Approved as to form:		
rapproved us to round		
Jon Walker, City Attorney		

## PERFORMANCE BOND to City of Marysville, WA

-	• •
Bond No	
(the "Principal"), a contract for the construction	ne "City"), has awarded to <u>SRV Construction, Inco</u> of the project designated as the LID Improvements in Marysville, Washington (the "Contract"), and said remance of all obligations under the Contract.
business in the State of Washington as surety a Acceptable in Federal Bonds" as published in Accounts, U.S. Treasury Dept., are jointly and	(the "Surety") State of and licensed to do and named in the current list of "Surety Companies the Federal Register by the Audit Staff Bureau of severally held and firmly bound to the City in the U.S. Dollars (\$) Total rein.
heirs, executors, administrators, successors, or Principal's obligations under the Contract and the modifications, additions, and changes to said	pecome null and void, if and when the Principal, itser assigns shall well and faithfully perform all of the fulfill all terms and conditions of all duly authorized Contract that may hereafter be made, at the time mance obligations have not been fulfilled, this bond
addition to the terms of the Contract, the specif to be performed under the Contract shall in any notice of any change, extension of time, altera work performed. The Surety agrees that modified the Contract that increase the total amount to	that no change, extension of time, alteration, of ications accompanying the Contract, or to the work way, affect its obligation on this bond, and waivestion, or addition to the terms of the Contract or the fications and changes to the terms and conditions to be paid the Principal shall automatically increased tice to the Surety is not required for such increased
	original counterparts and shall be signed by the ill only be accepted if its accompanied by a fully office executing on behalf of the Surety.
Principal	Surety
Principal Signature Date	Surety Signature Date
Printed Name:	Printed Name:
Title:	Title:

Name, address, and telephone number of local office/agent of Surety is:

# PAYMENT BOND to City of Marysville, WA

	Bond No		
The City of Marysville, V (the "Principal"), a contract for the for Cedar Avenue project, Project Principal is required under the t with Title 39.08 Revised Code of	e construction It No. <u>D2101</u> , il erms of that C	n Marysville, Washington (the "C Contract to furnish a payment b	LID Improvements Contract"), and said ond in accordance
The Principal, and a corporation organized under the	ne laws of the	State of and	(the "Surety") d licensed to do
business in the State of Washing Acceptable in Federal Bonds" as Accounts, U.S. Treasury Dept., sum of	s published in	the Federal Register by the Au	idit Staff Bureau o
Contract Amount, subject to the	provisions her	ein.	
This statutory payment theirs, executors, administrators, RCW Titles 39.08, 39.12, and 60 and material suppliers, and all provisions and supplies for the penalties incurred on the project; shall remain in full force and effectives.	successors, conditions, condit	come null and void, if and whe or assigns shall pay all persons all workers, laborers, mechani shall supply such contractor or of such work; and shall pay th	en the Principal, its in accordance with cs, subcontractors subcontractor with e taxes, fees, and
The Surety for value recaddition to the terms of the Contrato be performed under the Contranctice of any change, extension work performed. The Surety agrof the Contract that increase the the obligation of the Surety on this obligation.	ract, the specif act shall in any of time, altera ees that modit total amount to	way, affect its obligation on this tion, or addition to the terms of fications and changes to the ter to be paid the Principal shall auto	tract, or to the works bond, and waives the Contract or the rms and conditions omatically increase
This bond may be execuparties' duly authorized officers executed and original power of a	. This bond w		mpanied by a fully
Principal		Surety	
Principal Signature	Date	Surety Signature	Date
Printed Name:		Printed Name:	
Title·		Title:	

CONTRACTOR'S DECLARATION OF OPTION FOR MANAGEMENT OF STATUTORY RETAINED PERCENTAGE

Name, address, and telephone number of local office/agent of Surety is:

be:				
Select		No interest will be earned on the retained n.		
	bearing account in a bank, mutual say may not be withdrawn until sixty (60) must be in accordance with Chapters	<b>g Account.</b> Deposited by the City in an interest- vings bank, or savings and loan association. Funds days after the completion date of the work and 60.28 and 39.12 RCW. Interest on such account curred shall be the responsibility of the Contractor.		
		or must complete the attached "Assignment of ained Percentage Holding Account" form.		
	(3) Placed in an Escrow Account Chosen by Contractor. Placed in escrow with a bank or trust company by the City. When the monies reserved are to be placed in escrow, the City will issue a check representing the sum of the monies reserved payable to the bank or trust company and the Contractor jointly. Such check shall be converted into bonds and securities chosen by the Contractor and approved by the City and the bonds and securities held in escrow. The Contractor is solely responsible for all costs which may accrue from escrow services, brokerage costs, or both, and assumes all risks in connection with the investment of the retained percentages in securities.			
	If this option is selected, the Contractor "Retainage Escrow Agreement" form.	or must complete two copies of the attached		
	will submit a Retainage Bond which m	eu of the City withholding retainage, the Contractor nust be effective until sixty (60) days following the cordance with Chapters 60.28 and 39.12 RCW.		
	If this option is selected, the Contracto form.	or must complete the attached "Retainage Bond"		
		Contractor		
		Contractor's Signature		
		Printed Name:		
		Title:		
		Date:		

Monies reserved under provisions of Chapter 60.28 RCW, at the option of the Contractor, shall

# Assignment of Savings or Time Deposit Escrow Retained Percentage Holding Account

The under	•						
"Agency"	to	deliver	its	warrants , herein	or after the "I	checks Bank" and the	erein referred to as payable to Contractor jointly as an Escrow
Retained Per				100 10 710000	т		43 411 E3010W
Agency, in w	riting, au ne Conti	uthorizing the actor. Any	e release costs or	e of such fund fees incurre	ds. All inte d as a res	rest earned o sult of placing	k is notified by the n this account shal g the said retained
SRV Constr Contractor	uction, l	nc.			Agency: (	City of Marys	sville
Signature: _					Signature:		
Name:					Name:		
Title:					Title:		
Address:							
Date:							
Bank							
Signature: _							
Name:							
Title:							
Address:							
Phone:							
Date:							



Project	LID Improvements for Cedar Avenue
Contractor	SRV Construction, Inc.
Bank	

ē ,	, hereinafter referred to as the Contractor, and the rred to as the City, have entered into a public works
•	,

#### RETAINAGE ESCROW AGREEMENT AND INSTRUCTIONS

- 1. *Escrow Agreement*. The Contractor on a public improvement project for the City exercised its option pursuant to RCW 60.28.011 (1994) to place Retainage in escrow with the Bank. This Agreement constitutes both the escrow agreement between the City and Contractor and instructions to the Bank for handling of the Escrow Account. This Agreement is not effective until (a) the Agreement has been signed by the Contractor, Bank and City and (b) Contractor, Bank and City have entered the appropriate information in Exhibit A.
- 2. *Check Issuance, Endorsement, and Deposit*. From time to time, the City will issue a Check payable to the Bank and Contractor jointly. Contractor expressly authorizes and grants the power to the Bank to endorse the check on its behalf, to negotiate the check, collect the funds represented by the Check, and to deposit the funds so collected into the Escrow Account. These powers shall be deemed to be powers coupled with an interest and shall be irrevocable during the term of this escrow.
- 3. *Investment of Funds*. Funds and cash balances in the Escrow Account may be invested in Eligible Securities at the direction of the Contractor. For purchase of Eligible Securities, the Bank may follow the last written direction it received from the Contractor, provided such direction provides for investment in Eligible Securities. The Bank shall not invest any funds, cash balances, or proceeds of sale of Eligible Securities in any securities, bonds or accounts that are not Eligible Securities. Eligible Securities purchased pursuant to this Agreement shall be held by the Bank as custodian as part of this escrow. Eligible Securities shall be held in the Bank's name. Interest on the purchased Eligible Securities, if any, shall be paid to Contractor when, as and if any accrued interest is received by the Bank.
- 4. *Eligible Securities*. The following securities are deemed Eligible Securities, and the Bank may invest funds and cash balances in such securities at the direction of Contractor without further approval of the City, provided that any maturity dates are no later than twenty-five (25) calendar days after the Completion Date and provided they are held in a manner and form that

allows Bank alone to liquidate the securities as provided for in the Agreement.

- A. Bills, certificates, notes or bonds of the United States;
- B. Other obligations of the United States or its agencies;
- C. Obligations of any corporation wholly owned by the Government of the United States:
- D. Indebtedness of the Federal National Mortgage Association;
- E. Time deposits in commercial banks; and
- F. Mutual funds, pools, or investment trusts, provided the investments of the fund, pool or trust consists solely of securities listed in herein.

Other securities may be deemed Eligible Securities upon the written request of the Contractor and written approval of the City, provided the City has the staff assistance and expertise which will permit it to exercise sound judgment in assessing the security. The City shall consider probable safety, risk to principal, liquidity and any other factor the City deems reasonable to consider. Nothing herein obligates the City to incur any expense or charge to assess the appropriateness of a proposed security. The City has no obligation to consider a proposed security if the City would incur expenses, charges or fees in its assessment of the appropriateness of the security as an investment. If the proposed security has a maturity date, the security must mature on or before the Completion Date. The Contractor expressly acknowledges that any investment in securities involves risks, including, but not limited to, the risks of loss or diminution of principal and failure to realize anticipated or expected appreciation, dividends, interest, or other gain. Contractor expressly waives and releases both City and Bank from any and all liability associated with, or arising out of, these and all market risks.

- 5. *Bank Duties and Responsibilities*. Although the Bank will be a joint payee of any Check, the Bank shall only have (a) those duties and responsibilities that a depository bank would have pursuant to Article 4 of the Uniform Commercial Code of the State of Washington for an item deposited to Bank and (b) those duties and responsibilities created by this Agreement. The Bank must not deliver to the Contractor all or any part of the securities or money held by the Bank pursuant to this Agreement (or any proceeds from the sale of such securities, or the negotiation of the City's warrants or checks) except in accordance with written instructions from the City. The City Clerk is authorized to give written instructions and the Finance Director or Treasurer (or its designee) is authorized to give written approval of securities. Written instructions and written approval of securities must be countersigned by the City Attorney. The City may designate different authorized persons from time to time by notifying the Bank in writing of the change, which notice must be countersigned by the City Attorney.
- 6. *Change of Completion Date*. Upon written request by the Bank, City shall advise the Bank in writing of any change in the Completion Date. If the changed Completion Date is later than the original Completion Date, the Bank may reinvest any funds on hand, cash balances or proceeds of Eligible Securities with maturities, reverse loads, etc. consistent with the later

Completion Date. If the changed Completion Date is earlier than the original Completion Date, the Bank shall execute such transactions as are commercially reasonable to liquidate Eligible Securities in the Escrow Account no later than twenty-five (25) calendar days after the earlier Completion Date.

- 7. **Return of Funds to City**. At the City's sole option and notwithstanding any other provision of this Agreement, the City may direct the Bank in writing to liquidate any and all Eligible Securities held in or for the Escrow Account and to deliver all funds, cash, accrued interest and proceeds in the Escrow Account to the City. Such liquidation shall occur within thirty-five (35) calendar days of receipt of the written direction.
- 8. *Compensation of Bank*. Contractor shall be solely responsible for, and shall pay separately to the Bank, any and all fees, charges, or commissions of the Bank relating to the Escrow Account. No fees, charges or commissions of any kind may be deducted by the Bank from any property, funds, proceeds or Eligible Securities in the Escrow Account until and unless the City directs the release of the Escrow Account to the Contractor, in which case the Bank is hereby granted a lien upon the property, proceeds or Eligible Securities in the Escrow Account for the entire amount of unpaid Bank fees, costs or charges arising out of or relating to the Escrow Account. Said lien arises and is effective upon the City's written direction to release the Escrow Account to the Contractor. The City shall not be liable for any fees, charges, expenses or commissions relating to the Escrow Account or any Eligible Securities.
- 9. **Termination of Escrow By Bank**. Bank may terminate the escrow by giving written notice to the City and Contractor. Within twenty (20) calendar days of the receipt of such notice, the City and Contractor shall jointly appoint a successor escrow holder and instruct Bank to deliver all securities and funds of the Escrow Account to said successor. If Bank is not so notified of the appointment of a successor escrow holder, Bank may return all funds, securities and contents of the Escrow Account to the City.

#### 10. **Definitions**

- "Agreement" shall mean this document, including exhibit A when completely executed by the City, Contractor and Bank.
- "Bank" shall mean that national or state chartered bank identified in Exhibit A that holds the escrow.
- "Check" shall mean a check or warrant payable jointly to the Bank and Contractor, representing accrued Retainage.
- "City" shall mean the City of Marysville, a municipal corporation of the State of Washington.
- "Completion Date" shall mean that date occurring immediately after the expiration of the project duration (as defined by the contract for the public improvement), including any agreed extensions thereof. The initial Completion Date can be found in Exhibit A.

<sup>&</sup>quot;Contractor" shall mean the undersigned contractor.

<sup>&</sup>quot;Escrow Account" shall mean the escrow created by this Agreement.

"Eligible Securities" are those bonds and securities identified in the paragraph 4 above.

"Retainage" shall mean moneys reserved by the City under the provisions of a public improvement contract.

#### 11. Miscellaneous.

- A. With the possible exception of any agreement between the Bank and Contractor regarding amount and payment of fees, commissions and charges related to the Escrow Account, this document contains the entire agreement between the Bank, Contractor and the City with respect to this Escrow Account.
- B. This Agreement binds the assigns, successors, personal representatives and heirs of the parties hereto. Those persons executing this Agreement represent and warrant they are duly authorized to bind their principals to this Agreement and to execute this Agreement on their behalf.
- C. Venue for any dispute arising out of, or related to, this Agreement shall be Snohomish County, Washington.
  - D. This Agreement shall be executed in triplicate, each of which shall be deemed to be an original.

AGREED AND ACCEPTED this the day	AGREED AND ACCEPTED this the day
of, 2021.	of, 2021.
	,
SRV CONSTRUCTION, INC.	CITY OF MARYSVILLE
CONTRACTOR	
By:	By:
Printed Name:	Jon Nehring, Mayor
Title:	Ç, Ç
Address:	
City:	ATTEST:
City:            State:	
	By:
Tax ID #:	, Deputy City Clerk
AGREED AND ACCEPTED this the day	APPROVED AS TO FORM:
of, 2021.	
BANK	By:
	Jon Walker, City Attorney
By:	
Printed name:	
Its:	

#### **EXHIBIT A**

*City Supplied Information*. The City provides the following information:

Project	LID Improvements for Cedar Avenue Name
	Work Order # (if applicable)
Contractor	SRV Construction, Inc.
Bank	
Completion Date	

**Bank Supplied Information**. Bank provides the following information:

Bank	Name	
	Branch	
	Address/Phone	
	Contact Person/Account Officer	
Escrow Account	Account Name	
	Bank Account #	

*Contractor Supplied Information*. Contractor provides the following information:

Contractor	Name	SRV Construction, Inc.
	Address/Phone	
	Representative Authorized to Direct Investment	

#### **RETAINAGE BOND**

Bond	No.		

organi	KNOW ALL MEN BY THESE PRESE zed under the laws of the State of Wa			•
	shington as a contractor, as Principal,			
	zed under the laws of the State of			
busine	ess in the in the State of Washington a	as suretv.	as Surety, their heirs, e	xecutors.
	istrators, successors, and assigns, are			
	ville, Washington, hereinafter called "C			
benefic	ciaries of the trust fund created by RC	W Chapt	er 60.28, in the sum of	
	and/100'	's Dollars	(\$),	, or five percent
referer	of all monies now or hereafter earned be need Contract, the payment of which, executors and successors, jointly and	well and severally	truly to be paid, we bind	l ourselves, our
	THE CONDITIONS OF THE ABOVE	OBLIGA	TION ARE THAT:	
"Contra	WHEREAS, onact") with the City known as:	, 20	, the Principal executed	I a contract (the
	Project Name: LID Improvements for	r Cedar A	venue	
	Contract Number: D2101			
	And,			

WHEREAS, said Contract and RCW Chapter 60.28 require the City to withhold from the Principal the sum of five percent (5%) from monies earned by the Principal during the progress of the construction, hereinafter referred to as "earned retained funds"; and

WHEREAS, the Principal has requested that the City accept a retainage bond and release earned retained funds to the Principal, as allowed under RCW Chapter. 60.28;

NOW, THEREFORE, the condition of this obligation is such that the Surety is held and bound to the City to indemnify, defend, and hold the City harmless from any and all loss, costs or damages that the City may sustain by reason of release of said earned retained funds to Principal, then this obligation to be null and void, otherwise to remain in full force and effect.

PROVIDED, HOWEVER, it is expressly understood and agreed that:

- 1. Any suit or action under this bond must be instituted within the time period provided by applicable law. The bond shall be subject to all claims and liens provided for by law or Contract against the earned retained funds and in the same manner and priority as set forth for retained percentages in RCW Ch. 60.28 and the Contract.
- 2. The Surety hereby consents to and waives notice of any extension in the time for performance of the Contract, assignment of obligations under the Contract, or Contract alteration, termination, amendment or change order. This expressly includes, but is not limited to, consent to and waiver of any notice with respect to increases in the Contract price by change

City of Marysville

**44** | Page

order. Upon any such Contract price increase, the amount of this bond automatically increases by an amount equal to five percent (5%) of the Contract price increase.

- 3. Until written release of this obligation by the City, this bond may not be terminated or canceled by the Principal or Surety for any reason. Any extension of time for the Principal's performance on the Contract, assignment of obligations under the Contract, or Contract alteration, amendment or change order shall not release the Surety from its obligation under this bond.
- 4. RCW Ch. 60.28 authorizes the City to substitute a retainage bond in lieu of earned retained funds and the Surety hereby waives any defense that this bond is void or otherwise not authorized by law.
- 5. Any claim or suit against the City to foreclose the liens provided for by RCW Chapter 60.28 shall be effective against the Principal and Surety and any judgment under RCW Chapter. 60.28 against the City shall be conclusive against the Principal and the Surety.
- 6. The laws of the State of Washington shall apply to the determination of the rights and obligations of the parties hereunder. Venue for any dispute or claim hereunder shall be the state courts of Washington in Snohomish County, Washington.

The City Attorney may, in his or her discretion, waive conditions of the bond as appropriate.

The bond must be duly executed by the contractor and a surety that is (1) authorized to do business as a surety in the State of Washington and (2) rated at least "A" or better and with a numerical rating of no less than seven (7) by A.M. Best Company. The bond must be accompanied by a fully executed Power of Attorney appointing the signer for the surety as the surety's attorney-in-fact.

Principal		Surety		
Principal Signature	Date	Surety Signature	Date	
Printed Name:		Printed Name:		
Title:		Title:		
		Send bond release informa		
			(Address)	
			(City/State)	
ACCEPTED CITY OF MARYSVILLE		Approved as to Form		
By Jon Nehring, Mayor		By Jon Walker, City Attorney		
Date:		Date:		